METHAARZERIRR (BAARE) HhERE - BREIEELESERE(EEFEHE)) w1
ERE H30 R1 R2 R3 R4
REZER| XIREE | ARG | XBBRE | NERE | XRRE | WEEK | XBRE | ARE | XBBE | RS
40-497% 416,117 375,113 279,944 323,494 301,767
50-597% 392,0201 150,137 363,656] 172,630 273,010 150,592 326,129 193,886 321,721 202,390
% 60-697% 894,941| 329350 775008| 331,282 547,891| 266,214| 599102 | 322056 571,111 | 324,607
70k LA L | 1,128,691| 563,266| 1,074,558| 605,178 813,183] 511,520 913,617 633,435| 908,717 656,366
SEH s | 2,831,769 1,042,753| 2,588,317 1,109,090 1,913,941 928,326| 2162342 | 1,149,377 2,103,316 | 1,183,363
(A 40-497%%; 6,406 6,135 3,859 5926 5625
£| 50-59%% 5,652 1,415 5,239 1,791 3,375 1,528 5189 1.857 4714 2.036
| 60-697% 12,087 3,943 10,699 3,985 6,418 3,182 8,775 3,462 8,258 3,738
R 70wt 15,388 4,401 15,053 4,927 9,276 4161 13414 5046| 13,132 5,449
g 39,533 9,759 37,126/ 10,703 22,928 8871 33304 10,365 31,729 11,223
40-497% 17,374 14,597 10,188 11,209 9,645
50-595% 20,977 9,490 18,661 10,570 12,526 8,948 14225 10,712 12,768 10,552
% 60-697% 65152| 24212 53,636 24,157 35558| 18,405 36,771 21,028 32,178 20,270
70mE LAk 96,239| 49,545 89,019| 51,699 64,084 42357 69,676 51,027 66,561| 50,982
EREREYR g 199,742| 83247 175913 86,426 122359 69,710 131,881 82767| 121,152| 81,804
(N 40-497% 488 425 253 329 259
£| 50-59%% 489 38 435 4 230 50 340 54 251 44
2| 60-694% 1,382 147 1,125 131 570 107 777 106 641 72
R 7omLlt 1,978 177 1,916 185 1,030 142 1,471 172 1,316 159
g 4,337 362 3,901 357 2,083 299 2,917 332 2,467 275
40-497% 13,013 10,914 7,834 8,570 7,321
50-595% 16,192 8,870 13,981 9,976 9,533 8,242 10,818 9,913 9,671 9,859
% 60-697% 53488| 22,432 43397 22,650 28,782 17,077 29567 19,560 25947 19,024
) 70mE LA L 81,856| 46,004 74.846| 48,489 53853 39,619 58459| 47,754 56,148| 47,755
*ﬁ*ﬁ;i;?% g 164,549| 77,306 143,138 81,115 100,005 64,938| 107.414| 77227 99,087 76,638
A 40-497% 393 360 218 280 217
£| 50-59%% 405 33 364 32 185 43 285 44 211 37
2| 60-694% 1,188 117 971 107 479 75 657 81 539 46
R 7omLlt 1,765 148 1,701 149 914 114 1,257 139 1,156 139
Nl 3,751 298 3,396 288 1,796 232 2,479 264 2,123 222
40-497% 59 47 31 35 40
50-595% 125 134 115 187 67 142 72 149 54 164
% 60-697% 1,056 912 803 853 518 690 546 730 463 724
708 LA E 2,635 2,850 2,295 3,123 1,715 2,713 1,931 3,236 1,921 3,215
75%%35973 g 3,875 3,896 3,260 4,163 2,331 3,545 2,584 4115 2,478 4,103
A 40-497%%; 1 3 1 1 1
£| 50-598% 1 0 0 1 1 0 0 1 1 1
B 60-694% 8 1 10 2 4 3 5 2 11 3
R 70m Lt 27 13 34 12 16 9 24 17 31 13
Nl 37 14 47 15 22 12 30 20 44 17
TOERIBEICDOWNT * A RFERRIT50~695%
2R 2E 8.1 7.8 7.0 6.5 6.9
(%) EHE 6.5 6.0 5.4 49 5.3
EERE e e 6.7 7.0 6.3 6.9 5.9 6.6 55 6.2 5.0 5.8
(%) EHE 10.5 35 9.8 3.0 8.2 33 8.0 3.0 6.9 2.0
ERSLR e £ 80.9 92.9 79.4 93.9 79.7 92.6 79.2 92.9 79.2 93.7
(%) EHE 85.1 81.1 85.6 80.8 83.0 75.2 84.3 78.1 84.1 71.6
MASE B R EE| 0.09 0.22 0.08 0.21 0.07 0.20 0.07 0.17 0.06 0.17
(%) EHE 0.05 0.02 0.06 0.05 0.05 0.06 0.04 0.06 0.09 0.07
BHRSETE| 2E 1.4 3.1 1.3 3.0 1.2 3.0 1.2 2.8 1.2 2.9
(%) EHE 05 0.5 0.6 1.7 0.6 1.9 0.4 1.9 13 34
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